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Set Id : 62450 42 BATCH1 _D.EI.Ed. Odia_12NOV2

Section 1 - Paperl-English Language

No. of Questions:

Passage Questions (1-5):
Read the passage and answer the questions that follow:

‘That is true,” answered Sador; ‘true at least of some of us. But the up-climbing is painful, and fro
high places it is easy to fall low.’

At this time Turin was almost eight years old, in the month of Gwaeron in the reckoning of the
Edain, in the year that cannot be forgotten. Already there were rumours among his elders of a
great mustering and gathering of arms, of which Turin heard nothing; though he marked that his
father often looked steadfastly at him, as a man might look at something dear that he must part
from.

1) Who turned eight years old?

A) Gwaeron.
B) T urin.

C) Sador.

D) Edai.

2) How did T urin's father look at him?

A) With pride and love.

B) As something he must part with.

C) As a child who will save the kingdom.
D) As a child who deserved much more.

3) What was difficult according to Sador?

A) Getting down.

B) Reaching the camp.
C) Fighting the war

D) Up climbing.

4) What were the rumours about?
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A) Gathering of armies.
B) Gathering of arms.
C) Mustering courage.
D) War in the kingdom.

5) What difference did T urin see in his father?

A) He began talking about the war.
B) He stopped talking at all.

C) He looked steadfastly at him.

D) He gathered arms.

6) Fill in the blank with the correct option:

Itis not to discriminate people who are not with complexion .

A) fair, fair

B) fare, fare
C) fare, fair
D) fair, fare

7) Which of the following alternatives best suits the meaning of the idiom "Kill someone with
kindness"?

A) Be kind to someone

B) Initiate to stop kindness

C) Spoil someone by overindulging in them
D) Praise someone with kind words

8) Fill in the blank with correct prefix or suffix:

It is difficult to sustain your business by holding on to dated equipment.

A) up
B) out
C) pre
D) post
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9) Which of the following words is correctly spelt?

A) cencus
B) census
C) sensus
D) censious

10) Who is called as a person alternately displaying opposing good and evil personalities?

A) Jack and Jonas
B) Tom and Harry

C) Ram and Rahim
D) Jekyll and Hyde
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following animals does NOT lay eggs to give birth to its young ones?

A) Crow

B) Penguin
C) Kangaroo
D) Lizard

11) FARNYC gianaIas Mg 6066 6Ia ANIRS &7 696! Als! UG 6QRRIN ?

A) @@

B) cagaq
C) ae1Q

D) 854&

12) Who, in the Indian administrative system, is called the ears and eyes of the Prime Minister in
India?

A) Cabinet Secretary
B) Vice-President

C) Chief Justice of India
D) Home Minister

12) 219619 gaIane e1egia @ILIT quUIRARIE QIR 6 2IF gRIAN ?

A) MIGeRE A

B) @oiaad

C) 2166@ guIe §01ead
D) qeea

13) The National Assessment and Accreditation Council (NAAC) was established as an autonomous
institution of the -

A) Central Advisory Board of Education
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B) National Board of Accreditation
C) National Council for Teacher Education
D) University Grants Commission

13) 91619 MIIOE Ne° A9 988 (MR9NE) Y21 9@ AFVIRS 2QIR VR goae condal -

A) 69010 88l 06ea 69I¢
B) SI61a 21q8 6aI¢

C) SI619 2@ S8l 988

D) 94F@1ea 2qQIe 2sald

14) In one of the Government's initiation, what is the abbreviation of NLM

A) National Literacy Mission
B) National Law Mission

C) National Legal Mission
D) National Labour Mission

14) aeaies ARAFYER FUIQ wean ILIQ rigeas 2I6T

A) 60490IR N6 far
B) 6a60im @ e

C) 6249IR A9 fag

D) 6043IR 69 daa

15) The National Scheme of Incentives to Girls for Secondary Education (2008) sponsors eligible
girls with a sum of

A) % 5000/-
B) % 4000/-
C) % 3000/-
D) % 2000/-

15) eidqicies e afe 4810 21018 69/1QI128 6aIeRI( 9 0ol ) 6QIGY ARAAIRT JILAIRe aId 69N

A) ¥ 8000/-
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B) X ¥oo00o/-
C) T Mooo/-
D) X 9000/-
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which letter will be midway between 4th letter from the right and 10th letter from the right, when
alphabets are arranged in the alphabetical order?

A) S
B) T
C)U
D)V

16) sacesese adg@q edainl arca sl JQ, cleigg 6gd 28Q I GINIEQ P9 ZFAA AUNAICER 604 286G 689 ?

A) S
B)T
C)U
D)V

17) In a certain code language, if the word CAREFUL is coded as LCUAFRE, then how will the word
BENEFIT be coded in that language?

A) TBEEFIN
B) TBIEFNE
C) TIBEFNE
D) TBIFNEE

17) <o #&a caie aiisa, 96 CAREFUL a8 LCUAFRE aiesa 6qiq s2i03, co6e 698 aisisa BENEFIT ¢6& Q @od
60le @Al JQ ?

A) TBEEFIN
B) TBIEFNE
C) TIBEFNE
D) TBIFNEE

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

How old is James now?
I. 10 years ago James's age was 1/3rd of the age of his sister Margaret.

Il. The age difference between James and his sister Margaret is 20 years, Margaret being elder to
him.

A) 1
B) 2
C)3
D) 4

18) GONYC gegeaca 536 @99 :
¢. 06 RQQ4! | anaia RAA c09Iq 9628 26T |

2@ 994! |1 ¥gdel aneye AR saelg Ksaa 26T |
qn. 28 Q94! | ver |l aeog WRId S21de 6069 AR QDA 69 TIs AIg e |

¥. 95 9994 | v |l aeag 16 §2189 6669 @ AR RAR 699! Aiel AU Q6 |

XY QO @9 6966 ?

l. ¢o od g6% 6RFILS 90 0IF 041 FIFISRST QAAR IR QE1APS F |

. 6@91Y e oIF Rad AIFIEESS @AAQ AT 6208 90 9d, AIGIERE AIFOIQ 9€ |
A) ¢

B) ?

c)ya
D) >



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

19) Balbir travels 20 km north, then he turns right and travels 20 km. Then he travels 10 km north-
east and turns right and travels 20 km. Then he again turns right and travels 20 km. Finally, he turns
left and travels 20 km. In which direction is Balbir facing finally?

A) South-east
B) North-east
C) South-west
D) North-west

19) 2q91a QRAQEA 90 FEAIFR QIG /a8, SIU5R 64 121 R 90 FEATCR AIQI AaS | VIUER 69 € 0 FeRIfcR YAA-gL Tasa

el @08 4Q° e1a1dq 9 90 fsaIfiea Qg KaE | q@ 64 @I2161g 9f 90 FERIfica QG Ka8 | 68864, 64 QIFg QR 9o Feqifica
QIS 903 | 6ITER PNIIQ 68Q TR L ARG ?

A) @88-99
B) aaa-q¢
C) *8¢-ad¢

D) ea@-ode

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the average age of A, B, C, D and E?
|. Sum of the ages of A, C and D is 120 years.
Il. Sum of the ages of B, D and E is 150 years.

A) 1
B) 2
£)a
D) 4

20) PN 9gdasa 636 @03 :
0. 90 QY | 20qIR RAR 6291q A628 6T |
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9. 9@ QG |l vgdal e AR caqig D628 26T |
0. 9@ YRG! | ver |l aeng ¥eI0 ST 6669 AIANIQ AR 6291 Ais AU 26T |

¥. 9@ Q94! | v |l eeag 9eI0 S218e 6669 @ AR QRN 6991 Alsl AT G6S |

A, B, C, D ve E @° 201216 909 6160 ?

I. A, C wer D @° 909a 62197 6208 €90 F |
Il. B, D 9e E @° 999@ 62100% 6228 €80 @F |
A) ¢

B) ¢

C)™
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following was prepared by NCERT in year 2005 to review and present
recommendation on status of education in India?

A) RTE

B) PoA

C) NPE

D) NCF

21) @R FrIQ 6966 9008 60 1AdaIad QIal fIeesa JTIQ 6 A06a YUIGHR ACA 99° QUYAR @59 dla IYe FAUARAM ?
A) 2SR

B) a6

C) geda

D) el

22) Which of the following is the correct order of steps of Teaching?

A) Execution, planning and reflection
B) Reflection, planning and execution
C) Planning, execution and reflection
D) Reflection, execution and planning

22) Q0Rde FkIQ 69060 62af ATITIea A0 |6 ?

A) G299, 6AIRGI N OTRR
B) 96Taq, 6219l Ne* FRIGR
C) 6aI9q!, FR9Q e goaae
D) 96aaq, GIQq I QPR

23) Which of the following is the apex body in the area of teacher education in India?

A) NCERT
B) NIE
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C) NUEPA
D) NCTE

23) Seqis criIQ 69aF 6208 eesa JARD Jsl 68960 AT Y ?

A) R3S
B) (Rume
c) 4Rgadd
D) ¥*dda

24) Which was an important recommendation of the Kothari Commission regarding the status of
teachers in India?
A) Single teacher schools

B) Upgrading the remuneration to teachers
C) Teachers from local community

D) Gender equality status in teaching profession

24) 10660 deas §oq 69R 6RAE 6RI0IR1 2SR RIS YIRS AR ?

A) 9% J8@ IMIRK
B) JVRNIT PQAIF PP FA
C) 919 agIae JFRCNER

D) saieie 9Bsa daoe acieel §6

25) Which of the following project is suggested by Kilpatrick?

A) Constructive project
B) Simple project

C) Social project

D) Complex project

25) @eaige FORYe g9 FRIQ 6960 dIGl JRICE SOREER ?

A) 9099Re gae
B) 2o% ge@
C) aaI@e ges
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D) &% gee

26) LAD is

A) the innate ability in every child to develop grammatical principles
B) the sociologial development of grammatical knowledge

C) the cognitive development of a child aided by culture

D) the philosophical bent of mind acquired through religion

26) 9a4? cead

A) QUaescs dad Sqia alel gseue dga 2ehde agel
B) Qi8Q849e RIFQ AAIPS SR8

C) TI6 Qo iy gIg 8iga RIFee a4

D) 9190 Qi@ 6a11e A6l AIER AR F8S

27) The mental power which consist of learning, retaining and remembering what has been
previously learnt is known as

A) attention

B) memory

C) perception

D) forgetting

27) aiede 43 aiol 449, ¢l ¥ 9o A2l AHARE Sl a6e agel QIFEE RGN |

A) 4@
B) ¢
C) daal
D) gaql

28) Transfer of information from short term memory into long term memory is done mainly in which
of the following terms?

A) Image

B) Sound

C) Structure

D) Meaning
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28) qe deid 9oq @1dRIRIe 96 IR] IOFI YRR JHIe FEAUS FRgPe FrIQ 6RUIEER QAIaN ?

A) €58
B) &%
C) 0@
D) 2éd

29) As per the University Grants Commission Act, 1956, the Commission shall consist of a Chairman,
a Vice-Chairman and

A) Nine other members

B) Eight other members

C) Eleven other members

D) Ten other members

29) YARMIRG AGAIR 2SS 2R, © ¢ 89 AQUIN ZCAS 966 2UF, R6E QUIIY IQ° NLIQ° 69R S106 62Q
Q09

A) 224 @2 K6 ALY

B) 215y 2110 @4 agQy

C) 264 QI 86 AQQY

D) 215y 94 @41 98y

30) A classroom management technique in which a teacher establishes a consistent daily routine
that begins as soon as students enter the class is referred to as

A) writing routine

B) entry routine

C) seat signal

D) applaud up

30) 9@ 6g4Ige AGaeR 988 6AC2EQ 68 AJUTR IR AP 6TFRR AITIRN 2ER A8 AL FIGAIER 64416Q 694 @Gl AL 2ea
24 0l9| 6298

A) Foo sagal
B) g69da Gaad

C) ZIaR 26Fe
D) 99615 629
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 36919 RIQ XLl YUVIRQ 6P QUIQIR AR YTE PN

A) g
B) 4&
C) aw
D) qiqy

32) ‘gqe’ a86Q 69% QUAG 49E6 ?

A) 9
B) @«
C) ®
D) @

33) 699 99Q 6a163 QIF 62910 YOTI FER ITIQ @'E QRIAIN?

A) @4
B) a4
C) qa
D) qio@

34) ‘29w’ s9a URIBIdeals 48 912 |

A) a9
B) /eR
C) feR
D) 6292eq

35) 68 QYR YT6N @8 97

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App

A) g0 28]

B) 42 Q@ Qqeia K19
C) ana a@IRe 2el
D) ¢eq QuaqIel

36) 352l QEIRIER AQAQ(:) B 99IQ(EHY K'E QRIAN?

A) 2eaIey o
B) qo4@

C) §-9a

D) Quge 48

37) ‘YRR’ A0 Y IN6Q 699 2IQ QLS ?

A) 29
B) 82
C) 94
D)

38) ‘Qluais 0F G’ Qe 2d FQus /9 |

A) 04l /A9

B) @k @S

C) 4 Qudel

D) 2Qma1a 99 A%0 Q@RI KG9l

39) ‘gaueie Qal’ 28 QY8 FRAS 9F A8 axl

A) Zasi sl
B) @eerel @el
C) &al @2

D) 2uaedal qal

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App

40) Q6994 6R60 NVEQ YD ?

A) ¥
B) 8
C) s
D)r

41) ‘eaeiar 98a SURIBIgeae 98 QI8 |

A) 66

B) @a&
C) 2yeis!
D) 2gsa

42) G618 FRIQ 6296 IR 99 AAIA GaR AQ?

A) 0QaQ1
B) ea@
C) @alae

D) g6@

43) ‘a1e’ 2dea ‘N9’ gois ACITIRASl 486N QIR |

A) sdsea
B) aisag

C) 686
D) 2IGseg

44) 999 QLR @F — 694G 99T @ AQ?

A) QeI Q684
B) 14100 S6896)
C) geQioe Q6894
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D) 3699610 68196

45) ‘Qle’ 99a AALENRIS 48 QUL |

A) salsia
B) fad
C) a9
D) @@

2 >
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 4x + 5 = 257
A) 4
B)5
C)6
D)7

46) ¢ a 699 7R 4X + 5 = 25 anieasq a0« @€ ?

A) 4
B) 5
C)6
D)7

47) What is the area of the equilateral triangle whose side is 6 cm?

A) 9¥3 sq. cm
B) 18 sq. cm

C) 18V3 sq.cm
D) 2443 sq.cm

47) 9@ 2918 SR9a 6FETH 66O 629 QIR I 6208 9 6Q¢ ?

A) 9V3 o4 6ad
B) 18 ad sad
C) 18V3 ad sad
D) 24V3 o4 sad

48) Which of these numbers is exactly divisible by 2/3, 1/2, 3/7, 4/11 ?
A) 10

B) 11
£y12
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D) 14

48) @ rangde o eaad 2/3, 1/2, 317, 4/11 Qo 20aeice 308 6298 ?

A) 10
B) 11
C) 12
D) 14

49) What is the total amount a person gets,when an amount of 215,000 is invested for 1 year at 8%
per annum compound interest? [Note: compounding is done quarterly]

A) % 13,363.48
B) ¥ 14,238.48
C) % 15,236.84
D) 2 16,236.48

49) gee 43 T 15,000 1 od gl 18« 8% 0298 QM 2esa 76410 @03, 6069 64 VIR AYRIA AU 6060 629 ? [ o9 :
6GC1IAR lse 0998 SaIIRAIN

A) % 13,363.48
B) ¥ 14,238.48
C) % 15,236.84
D) ¥ 16,236.48

50) What value of x satisfies the equation 7x : 56 = 1 : 8?

A) -2
B) -1
C) 1
D) 2

50) e asea IR 7X : 56 = 1 : 8 arieqdg a0R a4 ?

A) -2
B) -1
C) 1
D) 2
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51) An equilateral traingle is inscribed in a cirlce of cirumference 16T cm. What is the area of the
triangle?

A) 4843 sg.cm
B) 963 sg.cm
C) 6413 sq.cm
D) 363 sq.cm

51) 4@ Q991 3% 1@ QRER 2SATG 62NDE AI9IQ UG 6268 €9 TT 621 | FYPa CFTR 6@6E 629 ?

A) 483 a4l 69
B) 963 ad 6o
C) 643 ag 6ad
D) 3643 a4 sad

52) If the sum of two numbers is 50 and the H.C.F. and L.C.M. of these numbers are 2 and 312
respectively, then the sum of the reciprocals of the numbers is equal to

A) 50/156
B) 25/312
C) 36/624
D) 156/50

52) a8 9ad e and 50 ve° qalg 9e aalg aaIgses 2 9e* 312, 6669 PHIYINR AIeLde and el a8e AR

A) 50/156
B) 25/312
C) 36/624
D) 156/50

53) Rajesh bought a car for ¥ 6,50,000. Its value depreciates at the rate of 10% per annum. He
wishes to sell the car after 3 years.The value of the car after 3 years is

A)  4,37,850
B) % 4,38,750
C) % 4,45,570
D) % 4,73,850
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53) aiswa T 6,50,000 6a e @ia d&asa | @@ gai 218e 10% 2ie6a 212 4162 3 o 96a AR 30 091G gl 968 | 3 o
JE6l FIKG (r]jﬂll S0

A) ¥ 4,37,850
B) % 4,38,750
C) % 4,45,570
D) 2 4,73,850

54) If 2x+3y-5z=0 and 3x+4y-7z=0, then the ratioof x : y : z is

A) 1:1:1
B) 1:2:2
C)1:2:3
D)1:1:2

54) a@ 2x+3y-5z=0 e 3x+4y-7z=0 94, 6669 X ! Y | Z @ 2QAS 6288

A)1:1:1
B) 1:2:2
C)1:2:3
D) 1:1:2

55) Who was the German mathematician who developed the "Theory of sets"?

A) Herman Gundert
B) G.H.Hardy

C) John Venn

D) George Cantor

55) cad adiie adon ‘46d AL 62’ @ Sade adsa ?

A) 26418 ga¢
B) &.1c.2@
C) 9% 699

D) 9% SIrea
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56) Three among the following four numbers are perfect squares. Which is the odd one among the
following: 15,625, 9,801, 12,321 and 3,947 ?

A) 15,625
B) 12,321
C) 9,801
D) 3,947

56) A9Ryo QAT el cIQ G6AIF 6ead Qs @d | FgAYe cIQ cead 6 ass: 15,625, 9,801, 12,321 wer 3,947 7

A) 15,625
B) 12,321
C) 9,801
D) 3,947

57) What is the total number of diagonals that can be drawn inside a regular decagon?

A) 70
B) 35
C) 21
D) 56

57) 5adie ¢69e G405 SEIAINUIQASI AYIA F€ P 6966 609 ?

A) 70
B) 35
C) 21
D) 56

58) There are 45 members in a student council in a college and the ratio of number of science
students to the arts students in the council is 3:2. There are no students from any other stream in
the council. What is the number of arts students to be added to the council so that the ratio of science
to arts students in the council becomes 9:87

A) 3
B) 6
C)9
D) 12
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58) 1@ Fcamca g1 Jeaeca 45 @8 A9 288 ¥ J6EeR 9wl Blafles 86 SRle slow Aeale 3:2 | 0FEea A9y 6RI8d Salca

21 FILIT | 06ER6R 6QIT 62915 AR TR VISR T 6966 629, ATFER 0HFLR 791 FIGAIET AT SRIP BISAIFEA 2GAIG
9:8 6297

A) 3
B) 6
C)9
D) 12

59) If the number of proper subsets of a set is 4095, then what is the cardinality of the set?
A) 10
B) 11
C)12
D) 13

59) 9@ 9% 626 @ 2ags a996ae el 4095 coIRalN, 6669 696 @ FITAIRET 6966 629 ?

A) 10
B) 11
C) 12
D) 13

60) What is the value of the following expression after simplification?
Expression: (45"2-44"2)+(43"2-42"2)+41"2

A) 1,685

B) 1,825

C) 1,855
D) 2,025

60) aee1ead gsa GaRde 2Euga FIN 6@6G ?

AGSNS: (4512-4412)+(4312-42/2)+41/2

A) 1,685
B) 1,825
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C) 1,855
D) 2,025
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Precipitation is any form of water particle, whether liquid or solid, that falls from the atmosphere
and reaches the ground. Which of the following options is NOT a type of Precipitation?

A) Snow

B) Hail

C) Drizzle

D) Sea breeze

61) 98016 6208 #» 2d9Ia 67 67199 gRIea 0aR @7l 207, AP APNEYRQ ¢d Yisa ardaN | FYAYe 8960 AIQ 6Ra0
Q0100 98 gRIQ g62 ?

A) gaaie
B) quioee
C) d1eq8
D) 292 99

62) Which among the following options is the thickest layer of the earth's structure?

A) Inner Core
B) Mantle

C) Crust

D) Outer Core

62) Gohde §989ee AUIQ 6296 QIR G0RA SAISI 2R ?

A) @09 6299 28e
B) aigiee

C) gaq

D) qIey 6914 286

63) Indian Constitution introduced which of the following systems of Government in India?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) Presidential
B) Parliamentary
C) Dictatorial

D) Military

63) aeeia AL ARG AWReT FIAYC AT AIQ 624 IR JReR *&dal ?

A) Qaae1a
B) ara@ige
C) 9egQ

D) aip@ae

64) As per Vedic literature, which among the following options refers to "Anuloma"?

A) The marriage of a man from the higher caste with a woman from the lower caste

B) The marriage of a man from the lower caste with a woman from the higher caste
C) The marriage of man and woman within the same caste

D) The marriage of a man and a woman with different castes but same gotras

64) 6500 AFSY 2QUIN, FIRYS IRAYPR TP 6RAT "AYEMIN" § ITC F6Q?

A) ¥R Q2 SIGQ JRIE QTG K64l 07 FIGA AERIE GAIL
B) 8¢ 9169 864 Jaa ARG ¥R Q% T AZRIE FQlIL
C) Qi@ QI A16Q YRS G AR IQIL

D) aqiq 60lIg @8 G2 FIGQ YR8 ¥&° AIRIE FIEQ GIR

65) India's global ranking in the generation of e-waste is

A) Fifth

B) Second
C) Third
D) Fourth

65) @-9RI9L AUIRER NIGER FYLRIG FIRIGI 6298
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A) Toq
B) @18
C) Qo1

D) ogal

66) Which among the following options is a rigid, rocky outer layer of the earth, consisting of the crust
and the solid outermost layer of the upper mantle?

A) Mesosphere
B) Lithosphere

C) Asthenosphere
D) Biosphere

66) fgRdic Seagde g 69E QaeIa @ @07, T2 QIRY 98, YR I AR 6998 f07 AN 20 676 900 7

A) 6216QR9Q
B) Rsai@e
C) z6ger@9Q
D) Qie013aQ

67) The 42nd Amendment Act of 1976, transferred how many subjects from the State list to the
Concurrent list?

A) Four

B) Six

C) Nine

D) Five

67) 2099 Q ¥9 6f TEARR AYFAF, AR CIRRIQ 696015 TR, @ ATNTE SIRAIER YRIex FAER! 7

A) &8
B) a2
C) %
D) are
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68) Which Amendment Act reduced the voting age from 21 to 18 years?

A) 60th Amendment
B) 61st Amendment
C) 64th Amendment
D) 65th Amendment

68) ca9 PealNe UUFACISR 6RACERR AAG 9@ Q °F 9] 1A FAAIRE R ?

A) Do QFl Tedle
B) P Ledliie
C) DY @F TedllR
D) 8 OF el

69) The Tropic of Cancer, Tropic of Capricorn, and the Equator, all the three pass through which of
the following continents of the Earth?

A) Europe

B) South America

C) Asia

D) Africa

69) adc @8, Aea QI8 Y Qe 6adl, Y@ 567IF ge1a REIMYD FeEad kg 699E 6on 66 @Gl ?

A) 2saa

B) @@« 654l
C)

D) 2!

70) In which year was the Quit India Movement launched by Mohandas Karamchand Gandhi?
A) 1946

B) 1942

C) 1939

D) 1940

70) 624 9669 671290/2 FAAGL FINIF Q6 VRS 2I° LICARR AR ELINAMI ?
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A) 20¥9
B) e Y9
C) ecme
D) e¢¥o

71) "Vedanta" is the another name of which of the following options?

A) Mahapuranas
B) Puranas

C) Upanishads
D) Vedas

71) QORYe FRAYRR TUQ 6RRER AMGAIT 6298 ‘612" ?

A) aRIgld
B) gaus

C) aageaa
D) gq@

72) The UN Climate Change Conference COP-25 (December 2019) under the Presidency of
Government of Chile was held in

A) Washington, USA

B) Madrid, Spain

C) Santiago, Chile

D) Paris, France

72) 64 Qoqias 2UN0I6a ARe RIECran @999 08eee aFeat A6d-25 (Geana 2019) oka 2986 c2IQAR
A) GiEreR, sad

B) G, 699

C) Qrcaisal, of

D) 4194, gIg

73) Which of the following options are TRUE about the members of the Rajya Sabha?
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A) The members should be at least 35 years old

B) President of India nominates 14 members to the Rajya Sabha

C) President of India nominates 12 members to the Rajya Sabha

D) Nominated members are not entitled to vote for Presidential election

73) 5Rde 3089ee FUQ 64E AIRITNIR AQAAIRE SEL6Q ABY 266 ?

A) AQAFNER ACKAEA NB Y 621 AN

B) AT QI%G@ QURIARISE T @6l ARG F6RIRIe Fad

C) YA QI%G@ QAURIARIEE ¢ 9 P8l ARG F6RIRIe *QE

D) F16RI1e AR QI%G@ FRIOR TR 691 6NN ANRIQ AAUS QIT

74) Read the following statements and choose the CORRECT option.

()The Antimeridian is the +/-180 degree line of longitude, exactly opposite of the Prime Meridian.

(iThe Prime Meridian and the Antimeridian divide the Earth into Northern and Southern
Hemispheres.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

74) Ggfige QYRR ceg e ade da8 9Ig

(Q) aréendidele c2ag Qdae +/- ero @91 sadl, el gel @dqia O daa1e
(QQ) gen QA 9e° APGEraGeIe QoaIg ARe Y @fd 6aIRINER Y08 @8

A) (2) 904 26T e (aQ) AR 26T
B) () Q04 2166 ver (aa) 2ARY 26T
C) (a) 204 263 e (ag) AGY 26T
D) (@) 21964 26% e (2a) AARY 26S
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75) In the 1937 general elections, in which province did the INC NOT get absolute majority?
A) Assam

B) Madras

C) Punjab

D) Central Province

75) e emo arIed FRI0R6Q, 604 96245a 2IRNad rgd TrHIcfasl AR A8 ?

A) T
B) fIgia
C) e&e
D) 6@gia g6Qd
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following reaction takes place in anode or cathode of a galvanic cell?

A) At the cathode: Zn - 2e — Zn?*
B) At the anode: Zn - 2e — Zn?*
C) At the anode: Cu?* + 2e — Cu
D) At the cathode: Cu - 2e — Cu?*

76) G9Agc 9fEAIgER AU 6040 CINRIRT 6RIEQ 2IQIe Gl QUIGLISER §4 ¢

A) qusale 6a: Zn - 2e — Zn?t
B) zicie 6@ : Zn - 2e — Zn?*
C) aipie 6@ : Cu?* + 2e — Cu

D) uicele 6a: Cu - 2e — Cu?*

77) What happens to the density of solids showing Schottky defects?

A) Density increases

B) Density does not change

C) Density decreases

D) Density decreases upon heating

77) aG gf 62¢IRde Ra aaal &'4 99°?

A) 9261 9F diRei
B) 96l 08969 94 @12
C) a6l afard

D) IQF 6291 TR ARG FEAI

78) A car is moving with initial velocity of 10 m/sec with acceleration of 8 m/sec?. How much distance
it would cover in 40 seconds?

A) 3200 m
B) 6800 m
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C) 6400 m
D) 4000 m

78) 665N @IQ 8 m/sec? @ QA8 AFE 10 m/sec JIQda da6Q06a o6 @Q@ 1 40 6A6R46Q 12! 6268 GR!
2R QA9 ?

A) 3200 m
B) 6800 m
C) 6400 m
D) 4000 m

79) The longest stage in the cell cycle is

A) Anaphase
B) Prophase

C) Interphase
D) Telophase

79) 6918 Q@ AL0IQ AU TN 6208

A) ZIRaR,
B) ediear®

C) eroqeas

D) 6c6RIETR

80) Which of the following is also known as Sea grass?

A) Eichhornia
B) Hydrilla
C) Zostera
D) Utricularia

80) Fofde AuQ 6846 AYQ AIA AULEA F1 PEIFS ?
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A) geceidal
B) e1e@m

C) sxicaql
D) AR

81) Which among the following chemical reaction occurs when 3 parts of HCI is mixed with 1 part of
HNO3?

A) 3HCI + HNO3 — NOCI + 2H20 + 2CI
B) 3HCI + HNO3 — NO + 2H20 + 3Cl
C) 3HCI + HNO3 — 2Hz20 + NOCls

D) 3HCI + HNO3 — HCIO + 2CIO + NHs

81) Gadiee Iaede 9oaa FrQ 6aae 94 6060667 da8 @ 3 2re Jdae, @ 1 2re ade dde g1 °?

A) 3HCI + HNO3 — NOCI + 2H20 + 2ClI
B) 3HCI + HNO3 — NO + 2Hz20 + 3Cl
C) 3HCI + HNO3 — 2H20 + NOClIs

D) 3HCI + HNO3 — HCIO + 2CIO + NH3

82) Which of the following cation to anion ratio for solids is forming octahedral geometry?

A) 0.414 -0.732
B) 0.155 - 0.225
C)0.225-0.414
D) 0.732 - 1.000

82) 49 aR 219 2gaIeQ FYAYE F6EAR FUQ 6966 2AIRIN SIAE Q8 @B ?

A) 0.414 - 0.732
B) 0.155 - 0.225
C)0.225-0414
D) 0.732 - 1.000

83) What is the accleration produced by a Force of 16 N exerted on a object of a Mass 2 kg?

A) 6 m/s?
B) 8 m/s?
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C) 4 m/s?
D) 2 m/s?

83) 2 kg BFaQ U@ 9g QUEQ Je 62101 16 N @@ 91 Q@ 6222 Q6 6@60 260 7

A) 6 m/s?
B) 8 m/s?
C) 4 m/s?
D) 2 m/s?

84) What is a method of sterilizing milk by injecting steam under pressure to raise the temperature
to 150 °C and evaporating the added the water?

A) uperization

B) heat sterilization
C) cold sterilization
D) dry sterilization

84) clasigig 8o *a @ 9F @Gl Clel I5* GO6R TIY AETIR AR VAG o6 KGR Y9 08 @6l 2T ¢

A) QeI

B) @aud Sqas
C) stew ?qael
D) 99 Gqae

85) Read the following statements and choose the CORRECT option:

(i) Peroxisomes are small and spherical organelles containing oxidative enzymes

(i) They helps in detoxification and removal of toxic substances from the cell

A) (i) is FALSE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) and (ii) are FALSE

D) (i) and (ii) are TRUE
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(@) 60a% 6216 6 CAINNIQ ATRR caRT6R 2FETR YRRIRE 2l

(QQ) cl2l 69I8Q §aI8 QG QI2Ia @RISR 8 FAIEQ AILIAY Q2N

A) (a) 21A0Y 2169 e* (aa) RN 26T
B) () Qo4 216G e (aa) AR 26T
C) (a) e (a2) AN 26C

D) (@) e (2a) Qa4 263

86) Which of the following has an racemose type of inflorescence?

A) Cotton

B) Jasmine

C) Calotropis
D) Amaranthus

86) Soage FQ 6906 Y9 60AsAIS gRIea gags a8 ?

A) @l
B) 4%
C) 9Isnieg1da

D) acaieaq

87) Which formula explains the behaviour of hydrogen gas when a PV vs P curve is drawn at constant
temperature?(Symbols/notations carry their usual meaning)

A) PV =RT

B) PV =RT + Pb

C)PV=RT-aV

D)PV=RT-Pb

87) sasosesw 1@ PV 9nia P o da claaigiea 26 99 (ge1@ | 4656 6a719wa AlIQd 28 998 969) 696 98 RIncieas
MR TUSASIY IS FER ?

A) PV =RT
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B) PV = RT + Pb
C)PV=RT-aNV
D) PV =RT - Pb

88) In the equation F = ma, what does 'a’ represent?

A) Torque

B) Acceleration
C) Velocity

D) Mass

88) ANRAETER F = ma, 126Q 'a’ 6206 209Id8 @98 ?

A) 6@ QI g8l
B) Qa4

C) adseq

D) ege

89) The function of Copper IUD is used

A) stop gastrulation
B) stop cleavage
C) stop mutation

D) stop fertilization

89) on 6oaa QI 86 4990 29

A) quiagsnar 90 FAIER

B) Q94% @0 @QQ16Q

C) i669% a0 2AQI6QR

D) oGRIQsadq oo 20916

90) Endoplasmic reticulum was first observed by

A) George Palade
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B) Ernst Haeckel
C) Albert Claude
D) Camillo Golgi

90) weaIgIRIfie 6aSqne gase YRle QI 6QHIKIRIM

A) 8% AR

B) @4 626aq
C) 2RSS qae
D) @IA6ql 63lIF1

2 >
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Question Paper No: 62450 42

Answer Key:
1|B 31| B 61 |D
2|B 321 A 62 | B
3(D 33 | € 63| B
4B 34 | A 64 | A
3| € 35|B 65| A
6 A 36 | A 66 | B
71C 371D 67 | D
8B 38| B 68 | B
9|B 39| A 69 | D
10| D 40 | B 70 | B
Ll | € 41 | C 7l (%S
12 A 42 | B 72| B
13 (D 43 | C 73| C
14| A 44 | D 74 | B
15| € 45| A 73 | C
16 | B 46 | B 76 | B
17| B 47 | A 2 |G
18| C 48 | C 78 | B
19 A 49 | D 79 | C
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